INDIAN INSTITUTE OF TECHNOLOGY ROPAR
WRITTEN TEST: ASSISTANT REGISTRAR | LDE 1 2023

MAX MARKS: 50 | Time: 90 Minutes

All questions carry equal marks. Attempt all the questions. Questions}‘ 1-42 ciarries
one mark each and the questions 43-46 carries two marks each. There is no negative
marking. Kindly put your name and signatures on every sheet of the question paper.

1. Which country won the Men’s Hockey World Cup 2023 in Bhubaneswar?

[A] France [B] Australia
[C] Belgium [D] Germany

2. Which lndién conglomerate is setting up endowment funding entities?

[A] Reliance Industries [B] Tata Trusts
[C] Adani Group [D] Aditya Birla Group

3. As per the Economic Survey, what is the budgeted expenditure on healthcare, as a
percentage of GDP in FY23?

[D] 1.5 %

[A] 2.5 % [B] 2.1 % [C]1.9%

4. The world's smallest country is?

[A] Luxembourg [B] The Vatican City
[C] Monaco [D] Marshall Islands

5. Pradhan Mantri Rojgar Protsahan Yojana targets the employees whose wages are less
than per month?

[A] Rs. 9,000.00 [B] Rs. 15,000.00
[C] Rs. 10,000.00 [D] Rs. 12,000.00

6. Synonym of the word fostering?

[A] Nurturing [B] Safeguarding
[C] Convincing [D] Ignoring
7. "Why are you so hungry?" "Oh, | breakfast this morning."
[A] hadn't [B] didn't [C] didn't have [D] haven't

8. Continual means?

[A] Never ending [B] Going on without stopping
[C] Always [D] Occurring repeatedly all the time

9. They have set out a journey to a hill station.
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[Alin [‘B] on [C] of [D] with
| :

10. This book ___five sections.
[A] comprises of [B] comprises
[C] consists [D] comprises to

11. Look at this series: 7, 10, 8, 11,9, 12, ... What number should come next?
[A]7 [B] 12 [C] 10 [D] 13
12. Which word does NOT belong with the others?
[A] index [B] glossary [C] chapter [D] -book
13.Paw : Cat :: Hoof : ?
[A] Lamb [B] Horse [C] Elephant [D] Tiger

14. Ashish is heavier than Gopal. Mahesh is lighter than Jayesh. Prashant is heavier than
Jayesh but lighter than Gopal. Who among them is the heaviest?
| | !
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[A]‘Gopal B] Jayesh [C] Prashant [D] Ashish
15. Substantive Pay does not include-

[A] Special Pay [B] Personal Pay
[C] Emoluments [D] All of the these

16. How many members will form the quorum of Building and Works Committee as per
statutes of [IT Ropar? :

[A] 2 (B] 3 [C] 4 D15

17. What is the monetary limit in case of theft, fraud, etc., above which the case is to be
reported to the Police for investigation?

[A] 25,000 [B] 50,000 [C] 1,00,000 [D] 2,00,000

18. Compassionate allowan

ce for deserving case of dismissal or removal of a Govt. Servant
may be given is: 8
[ |

B
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[A] Not exceeding two-thirds of pension or gratuity or both which would have been
admissible to him if he had retired on compensation pension

[B] Not exceeding one-thirds of pension or gratuity or both which would have been
admissible to him if he had retired on Superannuation pension

[C] Not exceeding two-thirds of pension or gratuity or both which would have been
admissible to him if he had retired on Retiring pension

[D] Nothing is admissible



19. A Lien of a Government servant to a post shall not be retained while:

[A] He proceeds on immediate absorption outside his cadre
[B] On deputation beyond the maximum period

[C] Both [A] and [B]

[D] Neither [A] nor [B]

20. Central Government servants are permitted to encash 10 days earned leave at the time

of availing Leave Travel Concession, a balance of earned leave that should be in his/her

credit after taking into account the period of encashment as well leave should be at least:
[A]120 days EL [B] 60 days EL [C] 30 days EL [D] 90 days EL

21. Which rule in GFR speaks about transparency, competition, fairness and elimination of
arbitrariness in the procurement process?

[A] Rule 174 [B] Rule 175 (1)
[C] Rule 173 [D] Rule 175 (2) . |

22. A report of transfer of a Gazetted Government servant is made in:

[A] GFR 15 [B] GFR 16 [C] GFR 17 [D] GFR 18
23. What is the period of retenﬁon of Pay Bill Registers?

[A] 25 years [B] 30 years [C] 35 years - [D] 40 years
24. A Government servant does not retains a Lien acquired on a post during:

[A] Suspension [B] The period of Extra Ordinary leave
[C] Foreign service [D] None of these

25. The salary of a Government servant who is in foreign service is paid from:

[A] The Consolidated Fund of India
[B] Foreign employer with the sanction of the Government

[C] The Consolidated Fund of a State ‘

[D] The Consolidated Fund of a Union Territory |

26. Under which Rule a Group A or B Government servant may, by giving notice of not less
than 3 months in writing to the Appropriate Authority, retire from service after he attains the

age of 50 years.
[A] FR 56 | . [B]1FR:B6k [C]FR 56 | [D] FR 56 m

27. How many days before the meeting of the Board, the agenda shall be circulated by the
Registrar to the members?



[A] At least one week [B] At least ten days
[C] At least two weeks [D] At least fifteen days

28. How many additional days of Joining Time over and above the normal Joining Time is
allowed to a Government servant transferred to North-Eastern Region (NER)?
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[A];2 days [B] 3 days [C] 4 days [D] .5 days
| A :

29. How nﬁany increments are granted when two consecutive stages are bunched during
fixation of pay in the Seventh Central Pay Commission?

[A] One [B] Two [C] Three [D] Four
30. Is HRA admissible during Child Care leave?

[A] Admissible for first one month [B] Admissible for first one year
[C] Admissible up to 180 days [D] Not Admissible

31. A Government servant who had reached maximum of 300 days on 1st January had
availed Earned Leave for 8 days during August. How many days of Earned Leave will be

shown in his leave account as on 31st December.

[A] 300 days [B] 300 + 15 days
[C] 300 + 07 days [D] 292 days

32. What leave salary is payable to a Government servant who is sanctioned leave not due?
| |
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[A] No leave salary is payable [B] As in the case of HPL
[C] As in the case of EL [D] As in the case of Commuted Leave

33. What is the minimum distance of average monthly travel on official duty prescribed for
grant and drawal of fixed Conveyance Allowance?

[A] More than 100 kms. [B] More than 200 kms.
[C] More than 300 kms. [D] More than 500 kms.

34. What is the age limit for admissibility of LTC to unmarried dependent daughter?

[A] Up to 35 years [B] No age limit
[C] Up to 25 years [D] Up to 18 years

35. State the upper age limit for divyaang children for reimbursement of CEA

[A] 18 years [B] 20 years
[C] 22 years [D] 25 years

‘ | |
36. A Government servant ié; deerned to be have been placed under suspension if he is
detained in custody for a period exceeding:



[A] 12 hours [B] 24 hours [C] 36 hours [D] 48 hours

37. Is there any provision for imposition of two penalties at a time for any one misconduct
under CCS (CCA) rules? | J |

‘ \
[A] No [B] Yes [C] Only one [D] No limit
38. What is the method followed for interest calculation on NPS accumulations?

[A] Interest is calculated quarterly

[B] Simple interest is calculated on monthly basis
[C] Savings Bank interest calculation method

[D] Simple interest calculated yearly

39. Government e-Market place (GeM) is explained in which Rule of GFR 201772
[A] Rule 144 [B]Rule 149 [C] Rule 165 [D] Rule 170
40. You can find “OPEX” model or “CAPEX” in?

[A] FR and SR [B] GFR
[C] Indian Penal Code [D] Finanqial Hand Book Volume |
| | ;
41. What is the validity period of registered suppliets in G“overnment e-Marketplace?

[A] 1 to 5 years [B] 3 to 5 years
[C] 1to 3 years [D] 2 to 5 years

42. What is the minimum credit limit required for completion of M.Sc. in Physics as per the
latest IIT Ropar rules?

[A] 80 [B] 75 [C] 78 [D] 76

43. What is financial ceiling for the Registrar, for Petty purchases/ services (Cash Advances

etc.) & Purchase without quotation as per lIT Ropar purchase manual?
(2 Marks)

Ans:




44. A train 110 m long passes a man, running at 6 kmph in the direction opposite to that of
the train in 6 seconds. The speed of the train per hour js: (2 Marks)

Ans:

balls purchased was: (2 Marks)

An§:




46. The average age of 8 men is increased by 2 years wHen two of them whose ages are 21
years and 23 years are replaced by two new men. The ay‘erage age of the two new men is:
(2 Marks)

Ans:

<Good Luck>




